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Q-Consider the following statements about G-20:

1. The G-20 group was originally established as a platform for the Finance Ministers and Central Bank
Governors to discuss the international economic and financial issues.

2. Digital public infrastructure is one of India’s G-20 priorities.
Which of the statements given above is/are correct?

[a] 1 only

[b] 2 only

[c] Both 1 and 2 \

[d] Neither 1 nor 2

Q-Consider the following statements:
The Stability and Growth Pact of the European

1. limits the levels of the budgetary deficit of the uropean Union

2. makes the countries of the European Union to share their infrastructure facilities

3. enables the countries of the Europ nion to share their technologies
How many of the above statementsiare ¢
[a] Only one
[b] Only two

[c] All three

[d] None ©° @
ol

Q-Consider t ing statements:
1. Rec he countries of the United Nations have adopted the first-ever compact for international
migratio lobal Compact for Safe, Orderly and Regular Migration (GCM).

2. The objectives and commitments stated in the GCM are binding on the UN member countries.

3. The GCM addresses internal migration or internally displaced people also in its objectives and
commitments.

How many of the above statements are correct?

[a] Only one



[b] Only two
[c] All three
[d] None

Q- Consider the following statements:

Statement-1: Recently, the United States of America (USA) and the European Union ( h nched
the Trade and Technology Council”.

Statement-1I: The USA and the EU claim that through this they are trying to_bring ological progress
and physical productivity under their control.

Which one of the following is correct in respect of the above statements?

[a] Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for

Statement-I.

[b] Both Statement-I and Statement-II are correct and Stateme
Statement-1.

[c] Statement-l is correct but Statement-II is incorre
[d] Statement-I is incorrect but Statement-II is c(rect.

e correct explanation for
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